t &£ &8 T XEFNXFEE
(F—EXRDEENXEFAES)

HeEEAN BAEZEUTRER



EANEESEY—EXRS
(HEBUHBEANEGEETD-HOFH)

B E ¥ H SEEFPHE |4FEFEE| = B
SEINA 2,486,000 2,568,000 -82,000
TEEERBIA 2,426,000 2,511,000 -85,000
FASERSEIIRA 60,000 57,000 3,000
FHEIA 1,000 1,000 0
ZDMDEFFHEINA 1,000 1,000 0
REZEWHBSIA 801,000 1,035,000 | -234,000
h X BT B S IRA 799,000 1,033,000 -234,000
BEEMEBEINA 799,000 1,033,000 ~234,000
B UXA 2,000 2,000 0
iR BRAEESHAEEA 1,000 1,000 0
AT B A S XA 1,000 1,000 0
B8IEEIA 1,000 1,000 0
A SHEEIRA 1,000 1,000 0
ZDHDEEEINA 1,000 1,000 0
ZRHERLYSIRA 1,000 1,000 0
S EER S EIA 1,000 1,000 0
SHIRFBE LS SINA 1,000 1,000 0
— T DDA 99,000 97,000 2,000
* ZABHEEIIA 60,000 60,000 0
w FEUXA 39,000 37,000 2,000
WA 39,000 37,000 2,000
& BEEIHIRAD 3,389,000 3,703000 | ~314,000
ABBEXZH 588,000 0 588,000
2 BERM =T 588,000 0 588,000
= EXEXH 598,000 605,000 -7,000
REEFZH 110,000 150,000 -40,000
& HiRpgEXH 465,000 432,000 33,000
ERRESFEXH 238,000 222,000 16,000
% HimmE & 227,000 210,000 17,000
) FHHXZH 1,000 1,000 0
X A ARTH 1,000 1,000 0
% | % A X 1,000 1,000 0
— SEEMEZE 20,000 20,000 0
EHREIH 5,699,000 6,377,000 -678,000
REZBERH 0 600,000 | -600,000
REEREXH 0 600,000 | -600,000
PHEMRE X H 1,000 1,000 0
BEREEREXH 769,000 758,000 11,000
HEMEXL 769,000 758,000 11,000
i IR ARE T H 120,000 120,000 0
PAKE 66,000 63,000 3,000
EEEXH 100,000 100,000 0
BIEEREH 325,000 453,000 -128,000
REEXH 24,000 22,000 2,000
IRERE X H 32,000 20,000 12,000
FHHZH 1,388,000 802,000 586,000
RIEEHZH 159,000 142,000 17,000
EEHTH 1,909,000 2,451,000 -542,000
HIMOEXRE 75,000 75,000 0
REHZH 548,000 587,000 -39,000




# F B B SCEETHEE|AFETERE| = E
B EX 40,000 40,000 0
— HEEXH 132,000 132,000 0
=% EEHBEEXH 1,000 1.000 0
ax | X BEEXH 10,000 10,000 0
wE | [BESXH 50,000 50,000 0
- BiEEXH 50,000 50,000 0
= EREEaEEX H 50,000 50,000 0
I= BEEEZHEN 6,935,000 7,032,000 -97,000
RE AN =03)~1)2) -3546,000| -38329000] -217,000
S~ | Ix 0 0 0
IRHE | A [ERERSRAGG) 0 0 0
E e EEEEREIH 1,000 1,000 0
# | X BB E RS H 1,000 1,000 0
= | HERE NG H 1,000 1,000 0
[z MEER EERE T HETG) 1,000 1,000 0
K B EREASINETEE6)=(4)-(5) -1,000 -1,000 0
—~ WERXDEBEAEIIRA 3,292,000 1,843,000 | 1,449,000
a%) AR HEBBASIA 3,292,000 1,843,000 | 1,449,000
ith NERBRELNARSBBASIA 1,000 1,000 0
o | 4" BEEALY t ABENARSBBRASINA 1,000 1,000 0
g EERTEESENARHEAZIA 436,000 1000 | 435,000
= ROEESEEEENARSEEASIRA 2,854,000 1,840,000 | 1,014,000
& | A |[P—ERXAESBEBRARIA 1,000 1,000 0
@ H_EARSEBRAZINA 1,000 1,000 0
¥ EMSERESL-UARSRBASIA 1,000 1,000 0
— ZDHOFHRAGHD 3,293,000 1,844000| 1,449,000
HERNHERASIH 1,000 1,000 0
;; BEXOBEBRAEZH 1,000 1,000 0
o DBEBERERXSERARIH 1,000 1,000 0
| % |MERSERAEIH 1,000 1,000 0
2 WA RSB AERN 1,000 1,000 0
g SZHEENCSR)FEARIH 1,000 1,000 0
- H—EXARSERASXZH 2,000 2,000 0
& | S—EXRNREEBAEXH 2,000 2,000 0
@ EFESERESEY-LARNBEASZE 1,000 1,000 0
¥ HhigEN B Y- AR D RRAS TN 1,000 1,000 0
— DD FEHZ HENS) 4,000 4,000 0
ZTOBOEHE ENEERO=1)-) 3,269,000 | 1,840,000 | 1,449,000 |
FEEXEI0) | _t 10,000 10,000 0
LHESIWEEB|MAFUD=CHOH9-(10) -268,000 | 1500000 ] 1,232,000 |
: AT ERES(12) 268,000 .l 1,500,000 | -1,232,000
S AR E e Re( )2 0 0 0
IR A& EH)+H@+1)+(12) 6,950,000 7,047,000 -97,000
X H & FHQr6)H8)+10) 6,950,000 7,047,000 -97,000
E=51%E 0 0 0




EMBEERESETEARS
GENEERUHEBUICRIBEOAGESFTH)

B E B B SEETEE | /IFETEE| = B

BREREWHBSIA 46,269,000 | 43,335,000 | 2,934,000
~ | HXETF B EINA 46,269,000 | 43,335,000 | 2,934,000
® A EERHEIA 46,269,000 | 43,335,000 | 2,934,000
2 EEFHIAGD 46,269,000 | 43,335,000 | 2,934,000
ANEE 48,079,000 | 51,456,000 | -3,377,000
& B e R X H 29,621,000 | 33,328,000 | —3,707,000
BEESXH 11,163,000 [ 10,874,000 289,000
L) R R E XM 7.295,000 | 7,254,000 41,000
- FRHREXH 391,000 366,000 25,000
- X EREEEXE 295,000 270,000 25,000
& wEXBEXH 60,000 60,000 0
H BB A RE X 60,000 60,000 0
% e & H 20,000 20,000 0
EEHEEMEXH 16,000 16,000 0
i HEREXH 15,000 15,000 0
% e RmE X 1,000 1,000 0
— | |BEEHIHEED 48470000 | 51,822,000 -3,352,000
= %ﬁﬁﬁﬂx&%@ﬁ(a}-ﬁ%(z} -2.201,000 | -8487,000| 6,286,000

2 | X
SHE| A KEL@) 0] 5 B
651 i =
in % . - ;
¥ | B RSB ESE X HEG) 0 0 0
— % R EZERINETEEE6)-141(5 | 4,612,000 | 0 0
5 X 5 Rl AR A 4,612,000 8,827,000 | -4,215,000
LS X o REEAALA 4,612,000 8,827,000 | -4,215,000
~ |z EBRMEESENARHREASIIA 1,000 1,000 0
;C) MOEESBELELHARSBRASIA 4,611,000 8,826,000 | -4,215,000
i H—EZARSBRAEIRA 1,000 1,000 0
o | A _Y—EXRSBBRASIA 1,000 1,000 0
& FENEEEES-CARSHEBASRA 1,000 1,000 0
& FOMOEBHRAGHD | 4613000 8828000 | -4,215000
- H—EARPERASXH 3,128,000 3,321,000 -193,000
%t % | V- EARSEBAZ XS 3128000 | 3,321,000 | 193,000
iz ENEREEY-UARSREBASXH 1,000 1,000 0
% BEEISY-CARSREBRASIH 3,126,000 3,319,000 [ -193,000
Z || WIS B Y —F AR5 EHEAS X 1,000 1,000 0
Z DO EH T HEHS) 3,128,000 3,321,000 | -193,000
%@ﬁb%ﬁfjﬁﬁﬂﬁﬁ%ﬁﬁ&)ﬂ%(@ 1485000 | 5,507,000 | -4,022,000

FRERE(10) 0 | :

LHESRXEHEEUD=-Q)HE) +{9>““"L 3,806,000 | -3000000| 2,284,000
ESE R E LN 716,000 | 3,000,000 | -2,284,000
Y ES N -F L DN 4,612,600‘ 0] 0
IRA&EF 51598000 55,163,000 -3,565,000
YHAE 51,598,000 55,163,000 -3,565,000
=51%E 0 0 0



BREEIISY—EARSY

(EFREDRBEIETH)
B & ® B SEEFEERE|AFEFERE| =B

ZDDOUIA 6,304,000 o| 6,304,000
% )] HUXA 6,304,000 0| 6,304,000
= | A ERFUELEASTHATEES 6,304,000 0| 6,304,000
) $r7 HEFEFRAD 6,304,000 0| 6,304,000
X & 5 [AfEXH 21,198,000 0| 21,198,000
= LE i BERATH 21,198,000 0| 21,198,000
% EEFEHIHEO 21,198,000 0] 21,198,000
EEEPESIEEEG=(1)(2) -14,894,000 0 | 14,894,000

i | X
@;E% MR EEZ AW 0 0 0

% | %

— W
(< ey i = % &I (5) ; 0] 0 0
& T RN EREEENE R 0-45) 1 0 0 0]
EEXERPBERBRAZIRA 1,483,000 1,483,000 0
FERSBBRASIA 1,483,000 1,483,000 0
NBREBEERSHBRASINA 1,483,000 1,483,000 0
— PR X EEARIRA 1,234,000 1,389,000 |  —155,000
z MR XD ERAEIRA 1,234,000 1,389,000 | -155,000
D |y SHELEENARDEBRASIRA 380,000 322,000 58,000
it NEEEEZMAROBBRASILA 494,000 290,000 204,000
fD BEELY -t ABERARSHBASIRA 360,000 777,000 |  -417,000
g A [ —EZRAREBRAZIRA 3,126,000 3,319,000 -193,000
- H—E AR ERARIA 3,126,000 3,319,000 | -193,000
* EMEZREEEY-CARSRBRASIA 3,126,000 3,319,000 | -193,000
3 FDHDEECEDIRA 14,894,000 0| 14,894,000
iR BT LEIESTATSREIA 14,894,000 0| 14,894,000
X ZOMDFHIRAGD 20,737,000 | 6,191,000 | 14,546,000
— % FOMDEENIZKDHXH 5,843,000 6,191,000 | 348,000
m BEFUBELESTETEXH 5,843,000 6,191,000 -348,000
ZOMOFEBZHETE®) 5843000 | 6,191,000 | -348000
i %mf&w%@zﬁ%ﬁziéﬁ(w-ﬁ‘w 14,894,000 0] 14,894,000
o FREXLI0 , 0 0 0
B E MR &t D=(3)H6)H9)~(10) 0 0| 0
__ ERXBAEERS02) ) o_l_ 0
ﬁﬁ%%_ﬂaﬁ&%m&m}ﬂ_}g 0 0 0
IRAEE 27,041,000 6,191,000 20,850,000
XHAEE 27,041,000 6,191,000 20,850,000
=51%a 0 0
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iR EEY—E AR S
(HhigEHLEB T E)
B ® B CEEFHEE|AFETERE| = B
REREHBESIRA 501,000 201,000 300,000
I B & IRA 501,000 201,000 300,000
A BHRESHBEIIRA 1,000 1,000 0
BB EIA 500,000 200,000 300,000
- BEFERAGD 501,000 201,000 300,000
% EXEEXH 1,652,000 1,526,000 126,000
= HERERREXH 85,000 85,000 0
RIEH X H 121,000 130,000 -9,000
& HHE X H 165,000 329,000 -164,000
ERRELEERH 150,000 314000 | -164,000
L)) MR 15,000 15.000 0
I= HHEZEE 2 1,000 1,000 0
Tl x FEEES 193,000 178,000 15,000
& LEREXH 789,000 500,000 289,000
F R 1,000 1,000 0
% | ZHEXE 280,000 280,000 0
RREEEH 1,000 1,000 0
1 TEIRRE R EREEXE 1,000 1,000 0
a BEEXH 15,000 20,000 -5,000
— Bipk & X H 3,063,000 3,503,000 -440,000
Bhpk & ¥ H 3,063,000 3,503,000 -440,000
th Xt BB & X H 3,063,000 3,503,000 -440,000
| ExEETRHEQ) - 4,715,000 { 5,029,000 | -314,000 |
SETHESNZEEHO-1)(2) -4214000| -4828000]| 614,000
[T | 1%
S8 | A [BBEHESRAG 0 0 0
| X
S | RRBEEREIG) ol 0 0]
—% HRERSESIRI Z50(6)=(4)-(5) | 0 0 0
SR HERASIIA 4,173,000 3,864,000 309,000
AR HBEBRAEIRA 4,173,000 3,864,000 309,000
- NEEEELENARDBBEASIA 1,000 1,000 0
> BERAY-tABENAX S HRATIA 1,000 1,000 0
(1)) 0w EERTEEEENSRNHBAEIA 1,000 1,000 0
ith A ROEES B R ERARSRBAZRA 4,170,000 3,861,000 309,000
0 H—EARHERASINA 2,000 2,000 0
g H—E AR DREBEAEINA 2,000 2,000 0
- EANEESEY-CARSERASIA 1,000 1,000 0
k EMESNEELY-ARSHMBASIRA 1,000 1,000 0
3% ZOHD EHIRATHD 4,175,000 3,866,000 309,000
4z WERSREBASIH 10,000 10,000 0
X | %[ BERSEBASXH 10,000 10,000 0
= | H HEELSEHSSEENARSBBRASIH 10,000 10,000 0
ZOMDEB T HEE) - 10,000 10,000 0
Z DD EEE S IRZEERO)=(1-(8) 4,165,000 | 3,856,000 309,000
- FEEITHA0) 1,000 _l 2,000 ~1,000
LHERNFTEHSEH1)=(3)+6)+9)-(10) -50,000 -974,000 924,000




B % ® H SCEETEIE|AEETEE| = B
TR Ih B = am(12) 50,000 974000 | —924,000
BHR X b A= Em( DHI2) | 0 0 0
IRASE 4,726,000 5,041,000 -315,000
X H&EE 4,726,000 5,041,000 -315,000
=51%E 0 0 0




BUDOELDVEEY—ERARS
(BTZSE XL HFE)

B E ®# B SEEFHAE|AFETHEE| = B
ZEEEIA 367,000 500,000 -133,000
% I T XETFIZEEEINA 367,000 500,000 -133,000
= | A BHDELIKYBEZIEEINA 367,000 500,000 -133,000
5 FERBRIRAFD 367,000 500,000 |  -133,000
& FEEXH 0 0 0
(< HERERAREXH 0 0 0
& | X Bhp & X H 367,000 500,000 -133,000
j‘;’z H Bk & X H 367,000 500,000 -133,000
¥ SR o A 367,000 500,000 -133,000
— BREFIHED 367,000 500,000 |  -133,000
BN NREBR-1)-1) 0 0 0
(T | 4%
S| A [EEBENAGAQ 0 0 0
AR
%if | ERBREXMIAG T 0 7] 0
—% RERE AN % E(0)=(4)-(5) 0 0] 0
L 0 0
=% A [ZohoESIRATT) 0 0 0
oY E
f‘;’zoa H [FOMmDEDZ L) | 0 0 0
; e EE S ORORONE 0 0 0
e ~ FREEREL0) 91 0] 0
LB R = e ar(11)=(0+6)H9)-(10) l 0 0] 91
HEESTN LD e 0 0 0
AXEEEEN1DH12) 1 0 0 0
IRA&ET 367,000 500,000  -133,000
XHER 367,000 500,000 -133,000
E=515%E 0 0 0



HERFEREY —EARS
(ATHBIEE - WENEERETHE)

B E ® B AFETHE|4EETEE| £ B
RERB@EBESERA 5,000,000 1,000 | 4,999,000
T XETH B EIRA 5,000,000 1,000 | 4,999,000
= | I ZDHDEEIEIRA 5,000,000 1,000 | 4,999,000
£ ZEEIA 0 4,440,000 | -4,440,000
& A THRETFZIESINA 0 4.440,000 | -4,440,000
% WESREBEZISIA 0 4,440,000 | -4,440,000
* BEEIBAGD 5,000,000 4,440,000 560,000
) Bhpk & X H 5,000,000 4,440,000 560,000
g‘é X Bhpi & 5,000,000 4,440,000 560,000
Zlw b X4 i B AR & X H 5,000,000 4,440,000 560,000
BEFRHIHAOQ 5,000,000 4,440,000 560,000 |
BRI a R R)=(1)(2) 0 0 0
[T IIX
;;zg A [BEEEZIAGAE 0 0 0
= | X
% | 1 REERERRI) 0 T 0
—% R EREA S N EEBO=1) (5 T 0 0] 0
—~| X
;f; A [ZOMOEBIRAGD) 0 0 0
ol X
@% 4 [EohnEHEHEE) ol ol 0
g ZOHO; 0 0 0
' ’ 0 0] 0
%ﬁﬁ&ﬂ&%ﬁ*ﬁﬂt1}~(3)+{6)+(9}~(10} 1 0 ol 0
, %‘%‘%i%ﬁ%ﬁﬁ(ﬂ) 0 0 0
ELIES 0] 0 0
IRA&ET 5000000 4,440,000 560,000
XHEE 5,000,000 4,440,000 560,000
=51E&E 0 0 0



DERIEERFHEESZSEY —EARS
B2 EE DRILEHMEESE)

B E ¥ B SEETHE | AFETHEEE = B
— ZEEEWA 165,000 164,000 1,000
E= i T RETF ZEERUNA 165,000 164,000 1,000
£ | 2 DECCHBTEESEEZERINA 165,000 164,000 1,000
s BB AT 165,000 164,000 1,000
%1] BEEXH 165,000 164,000 1,000
£ | X RE A EE X 21,000 24,000 -3,000
3 EEFHRE X H 21,000 24,000 -3,000
Iy | R 144,000 140,000 4,000
X | |EEEHTHEE) 165,000 164,000 1,000
— EXEPESMEZEO=-2) 0 o'j 0
IZ— | IR
ggg A [ERERSRAF® 0 0 0
= | X
S | REEREEERG | 0 0 0
% T ﬁ%&i%@(a)*(@ {5) 0 0 0
—~| 4%
jé“;g A [Z0MOESEAGD) 0 0 0
S X
S0 i [ZOMDEBEEEE® e o
H tOROEHASREEWO-© 3 0] 0
' FREXH0) 0 0 0
EHASNE aa+(11>m<‘_3>+<s>+<""9>-“"‘"<1e> T 0] ]
:xﬁ%ﬁkﬁﬁ%%(w) 0
=k 0
IRAEE 165,000 164,000 1,000
ZH&EE 165,000 164,000 1,000
=51%k5 0 0 0



RSUTATEVA—BEREY—EARS
(ETZREE.RIUT 7R I—EEFH)

B E ® B SCEEFPEHIE | IFETERE] = B
SZEERIRA 1,010,000 1,010,000 0
I HRRETFZEERINA 1,010,000 1,010,000 0
A RIVTATE A BERERIEEIA 1,010,000 1,010,000 0
EEEFERAG) 1,010,000 1,010,000 0
— AGEEXH 0 0 0
* TE S 0 0 0
2 BEESXH 0 0 0
EERME 0 0 0
& BEEZH 1,010,000 1,010,000 0
HESRBEEREXH 234,000 250,000 -16,000
L)) EREZE 2,000 2,000 0
- EE#HXH 110,000 106,000 4,000
- REZBEIH 22,000 4,000 18,000
& HBEREXN 22,000 4,000 18,000
H RERRE X 10,000 4,000 6,000
%) AEEES -5 30,000 30,000 0
Iz BiEEXH 70,000 70,000 0
BIEERE S H 182,000 182,000 0
¥ E T s e 340,000 340,000 0
— BREEXH 10,000 22,000 -12,000
FEREXH 0 0 0
EAEEEZH 0 0 0
BEEFFTHEQ 1,010,000 1,010,000 | 0
BEEESESRTEEQ=(1)-2 0 0 0
(2 | UX
g% A [EERERENARG 0 0 0
| X
qilfr* H ERBRESETHENG) 1 0]l 0] 0
—F | BREREES i%%ﬁ(ﬁ)-(@%m ‘ 0 0 0
—~| U
;i]g A (OO EHIRARHD 0 0 0
*
g% t [ZomoZEDXHEE) : 0 0] 0
& ZDBOES) %ﬂsti%ﬁﬁ(s)ﬂ%e} 0 0 0
‘ FBERH10) 0 0 0
%Eﬂﬁ%ﬂs&%gﬁ A D=@)H6)H9)-(10) 0 0 0
Bk R Th A= (12) { 0 [} 0
ERA XA S BRI HI2) | 0 0 0
XA &S 1,010,000 1,010,000 0
&R 1,010,000 1,010,000 0
=515%E 0 0 0
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EERBAHBREES EARSD
(T2 EE MAMEEREAHBHELICRITH. BBEROEERUVUAHES)

B ® B SEETEIH | FETRE| = B
Iz ZEERIRA 8,290,000 7,211,000 1,079,000
X ETFZEEEIRA 8,290,000 7,211,000 | 1,079,000
A EETERFIZRESEIAENRA 8,290,000 7,211,000 | 1,079,000
EEFEFIRAED 8,290,000 7,211,000 | 1,079,000
ANEEZH 6,995,000 5,684,000 | 1,311,000
iEA=E ot o dls 4,440,000 3,552,000 888,000
— BEESZH 1,301,000 1,012,000 289,000
% FERYBEHEGIH 451,000 450,000 1,000
EERME X 803,000 670,000 133,000
ES BEEXH 900,000 1,190,000 -290,000
EHEREHEMAEXH 58,000 111,000 -53,000
iz EX T Sa 47,000 45,000 2,000
HIAHE 47,000 45,000 2,000
= REXBEXH 552,000 787,000 -235,000
= | % ZEEREXH 552,000 787,000 -235,000
- HEM R EX H 74,000 96,000 -22,000
£ FHEEES 29,000 0 29,000
W WEEREXH 65,000 72,000 -7,000
3 F A H 5,000 0 5,000
ez 30,000 30,000 0
Iz BEEYH 40,000 49,000 ~9,000
EREXH 15,000 15,000 0
X EREEE X 0 0 0
— REZBEXH 12,000 12,000 0
‘B A REXH 12,000 12,000 0
HEMREXH 3,000 3,000 0
EREHERERH 0 0 0
/ﬁ*%nnﬁiﬂj 0 0 0
%%%@3&&1 -f(z) 7,910,000 | 6,889,000 | 1,021,000
e | | - 32& Qﬁ{) 58,0_@-
=,
-l A |BREBEHEZRARGW 0 ol 0
T X
5% hﬁ:&%ﬁ%im +(5) 0 0 0
% 4 e 0 0 — 70
| &EE ‘Fﬁ%aa)kf!lsz)\ 1,000 1,000 0
z R R RBASIRA 1,000 1,000 0
z® Mg B R E RN R X S ERASIA 1,000 1,000 0
i e A [ZohoEHRAFT) " 1,000 1,000 0
5@ | X [RARAERAS XM 380,000 322,000 58,000
O] EXSERAE N 380,000 322,000 58,000
L)) e E AR S RRAS I 380,000 322,000 58,000
LE H [ZFomDEDZET6E) 380,000 322,000 58,000
ZORDED RS REE RO -379,000 |  -321000|  -58,000 |
FiEe X m00) 1,000 1,000 0
= W =S T 1)=(37H6)+(9)-(10) 0 0 0
i ES N e D) 0 0| 0
ELESEN E R 0 0 0
IRA&EET 8,291,000 7,212,000 1,079,000
&R 8,291,000 7,212,000 1,079,000
=51k E 0 0 0

_‘I'I_



HEAERAXBEEETEARS
(RZRBX BUY—EXNAEHEXRIFELITHR)

BE # B SEETHA|AEETHELE| 2= B
ZEEIA 2,346,000 2,253,000 93,000
EEF R HZAEIA 2,346,000 2,253,000 93,000
% AEE AR Rt NA 2,346,000 | 2,253,000 93,000
FEIA 378,000 312,000 66,000
~ | A F FAFIRA 378,000 312,000 66,000
% FIARFHRA 378,000 312,000 66,000
2 BREHBAD) 2724000 | 2565000 | 159,000
ANEEXH 2,109,000 1,878,000 231,000
& jEA=E L e 2,109,000 1,878,000 231,000
FEEXH 788,000 660,000 128,000
B EERERRIH 60,000 22,000 38,000
- RIEHXZH 57,000 59,000 -2,000
b EiEfzH 0 0 0
& | X REXEE 584,000 525,000 59,000
"B EREXH 584,000 525,000 59,000
% BIEERE 51,000 32,000 19,000
H FEH 34,000 20,000 14,000
i B ik 2,000 2,000 0
a FHEXM 27,000 27,000 0
— REXBE 22,000 22,000 0
B EREH 22,000 22,000 0
BHEM R & X 5,000 5,000 0
| [EEESS ) _ 2924000 | 2,565,000 359,000
EEL SRR ERR=1)(D) ~200,000 0] -200,000
(T | 4%
%“_:’:E ; BEREEZRARW ] 0 0 0
IR &=
% | [ BREREXHAG ol 0 0
—% R i B = X = 28 (6)=(4)-(5) 0 0] 0
ZH—~| IX 0
“% A [FOROEBRARD ] o 0
B X 0 0 0
ngg t %d)fma}%ﬁifzﬁﬁt@) 0] 0 0
' = 0 0 0]
0 0 0
—200,000 | 0] -200,000
W 200,000 0] 200,000
TN+H12 Q“_"'_e'—"”""'ﬁ"
IRA&ET 2,924,000 2,565,000 359,000
XHER 2,924,000 2,565,000 359,000
E515%S 0 0 0
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LEHEENEFEY—EXARS
(KRBEEEANRICLDIBETEH)
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B E 8B B SEETHEE|AFEPHE| = B
BREXBEDESIRA 4,302,000 5,561,000 | —1,259,000
HEELEROSEINA 4,302,000 5,561,000 | -1,259,000
— | i —BEERIEIA 2,253,000 2,305,000 -52,000
* BRETHHOESEUIA 2,049,000 3,256,000 | -1,207,000
£ ZHF B RS EINA 1,000 1,000 0
A FIFERSSINA 1,000 1,000 0
& SZIFRERIEIRA 1,000 1,000 0
BEEHRAGD 4,303,000 5,562,000 | -1,259,000
2 HESEBRNEEEE 4,313,000 5,072,000 -759,000
= —REERIPEEEE 2,263,000 1,815,000 448,000
- LIk BRIEDE 666,000 793,000 [ -127,000
& ZANBILETE 1,137,000 152,000 985,000
X BER BRI EHE 60,000 60,000 0
) BF-RFIEHEHE 80,000 280,000 [ -200,000
W BB -EMEDHE 300,000 500,000 [ -200,000
2 RERELEEE 20,000 30,000 | -10,000
¥ BRE-THHNESESEE 2,049,000 3,256,000 | -1,207,000
— BEE T H 1,000 1,000 0
| |BREHIHE) 4,313,000 | 5072000 -759,000
| BR DA N EBO=(1-2) ~10,000 | 490,000 |  -500,000 |
—~ | 4R
| A [ESREHEFRARGD 0 o] 0
o B g ek 0 500,000 | 500,000
% & BERUERIERE 0 500,000 |  -500,000
— HERUE ARG H 0 500,000 |  -500,000
(2] | MEER BRI HEHS) o | | 0 500,000 |  -500,000
& TR Ea e R 0)=4)-(5) ; ~ 0|  -500,000| 500,000
— B X EEARINA 10,000 10,000 0
Tl [ WARSEREARRA 10,000 10,000 0
i Mg B EEN AR S ERASIRA 10,000 10,000 0
”3;‘0) A BEEIT -t AEENARHREEARIA 0 0 0
.jg FOMDEBRAGT) | 10,000 10,000 0
el I 2
T | ¢ ForoEwEER® ; 5] 5 0
%  FOHOETESINZEE9)=()-8) _'1_ 10,000 10,000 0
FREEZHA0) , 0 0 0
L E SN AU 1)=(3)+6)+(9)-(10) 0 0 e'i
EESZER LI TRD) 0 0 0
S ESEN &3 ) 0 0 0
A &G 4,313,000 5,572,000 1,259,000
X H&E 4,313,000 5,572,000 -1,259,000
=51&E 0 0 0



BENMEXEFES—LARS
(BENERESLEEFE N ERRFEOITIVERBRUNEXREEMEOAHR)

B E 8 B SEETHIE|/1FETHEE| = B
NERRERIA 12,027,000 | 10,891,000 | 1,136,000
EENEIIENEFUIA 11,133,000 9,848,000 | 1,285,000
BEMEIENEHRA 11,133,000 9,848,000 [ 1,285,000
g NETFHZENERERA 0 0 0
ZDDBEIA 894,000 1,043,000 -149,000
RSB ERA(DE) 1,000 1,000 0
ZEAE A (—HR) 893,000 1,042,000 -149,000
A ZotoRA 1,000 1,000 0
— MUXLA 1,000 1,000 0
% HIXA 1,000 1,000 0
2 ERITEIRAED)  12,028000 | 10,892000 | 1,136,000
AFEEXH 10,169,000 9,968,000 201,000
& BEHE X 2,874,000 2,874,000 0
BEESXH 560,000 378,000 182,000
L)) FRImaEREXH 5.486,000 | 5.486,000 0
(= HRERMEXH 1,249,000 1,230,000 19,000
EXEEBEXH 2,742,000 1,922,000 820,000
X HERERMEXH 252,000 100,000 152,000
% RIEH L H 170,000 23,000 147,000
% BEEHH 749,000 901,000 -152,000
5 HgEXH 436,000 234,000 202,000
EREREZEXIH 160,000 0 160,000
¥ HERHE 276,000 234,000 42,000
— | REXBEXH 20,000 15,000 5,000
FEEREXH 20,000 15,000 5,000
HHEm R EX H 20,000 15,000 5,000
R & AE X H 30,000 30,000 0
BEEXH 150,000 100,000 50,000
EiEEREXH 320,000 218,000 102,000
FHHZH 549,000 10,000 539,000
RSERX 45,000 275,000 [ -230,000
BREEXH 1,000 1,000 0
% SHREXH 90,000 90,000 0
m EHELEEZH 90,000 90,000 0
BREBXIHED) . 13,001,000 | 11,980,000 | 1,021,000
BEREDESMIEHO-(1)-) ~973000 | -1,088000| 115000

—~ | U

E’E A |BREHFRARW o 0 0
g 3 ElE & RS H 2,000 2,000 0
ifi?:? % HEREISXH 1,000 1,000 0
Or M HmE R A G X 1,000 1,000 0
= BERUVHEAIEGXH 1,000 1,000 0
& EREEFZHENG) o 2,000 | 2,000 0
& RS B I = 8(0)=(4)-(5) ~2,000 ~2,000 | 0
E H—E AR BRARIZA 1,000 1,000 0
”é?gg i H—F AR SRIBAZINA 1,000 1,000 0
S| A F—LALTEEY-EARSBBRATIA 1,000 1,000 0
20 ZOHOEHIAED 1,000 1,000 | 0

_14._




_15_

BE ® B CEETELE|IFETEE| E B
— WMERXRSHERASIH 1,000 1,000 0
53 MERENERAEXH 1,000 1,000 0
fé thigEUEE AR S EBA I 1,000 1,000 0
”ég; H—EARSBEAEXH 2,515,000 400,000 | 2,115,000
ug H—F AR PREBAE T H 2,515,000 400,000 | 2,115,000
e h-hANTEEY-EARDEBAE X 2,515,000 400,000 | 2,115,000
& FOMOEBHHEEG) 2,516,000 401,000 | 2115000
5 %mfr&@é@ﬁ:&ﬁniﬁ%@)wﬁm@ ~2515000 | 400,000 | ~2.115,000
T FREXMI0) 10,000 10,000 0
LA T IR = e e (11)=(3)+6)+9)-(10) -3,500,000 | -1,500,000 | -2,000,000
uﬁiﬁ%ﬁﬁﬁa(m _{ 3,500,000 1,500,000 | 2,000,000
Lk R a2 Em( )12 0 0 0
IRA&E 15,529,000 12,393,000 3,136,000
THA&E 15529000 12,393,000 3,136,000
EZ51%E 0 0 0




R—LNILTEBEY—EAR R
GHEANZEXTEEFE N ERBRELZDOHFHENESE. LN -RUERMN-O ANGESE)

B % ® H CEETHEE |1FEFREE| = R
ZEEEIA 1,000 1,000 0
XA ZEESIRA 1,000 1,000 0
FETCEREMN-RESEZITEIA 1,000 1,000 0
EEIRA 30,000 30,000 0
ZDMDEBFIA 30,000 30,000 0
FIARFHIRA 30,000 30,000 0
NEREBZRA 11,768,000 | 11,273,000 495,000
FEENTEFURA (T EEMBIIA) 6,444,000 6,120,000 324,000
IrEEHANILA 6,443,000 6,119,000 324,000
58 FBAIRENURA 1,000 1,000 0
BENEHRA(FAESEEIIRA) 718,000 682,000 36,000
NMEGHESRACR 715,000 679,000 36,000
X NEEESRANRE) 1,000 1,000 0
NEFHEEEIRA—AR) 1,000 1,000 0
NEFHEESRALE) 1,000 1,000 0
NEFH-BEEEIIELRESEENRA 4,605,000 4,470,000 135,000
A BEBIA 4,187,000 4,064,000 123,000
EEEHESWA(NE) 1,000 1,000 0
EEEHHERUA () 417,000 405,000 12,000
ZDHDFEFEIIA 1,000 1,000 0
— SZEBEERA 1,000 1,000 0
= -3 ZDDIXA 2,000 2,000 0
ZAHHEEIA 1,000 1,000 0
* HITA 1.000 1.000 0
s HUXA 1,000 1,000 0
’ SHRAHERYSINA 1,000 1,000 0
& A ISR RN 1,000 1,000 0
ZHRFRESEINA 1,000 1,000 0
(< BEFEIAGA) 11,802,000 | 11,307,000| 495,000 |
¥ ANFEZH 14,559,000 | 11,372,000 | 3,187,000
BEHH 4,860,000 2,862,000 | 1,998,000
3 BEESXH 1,651,000 946,000 705,000
EEHBEHRsXH 7,018,000 6,983,000 35,000
1 EERMNEXH 1,030,000 581,000 449,000
FEEXH 1,004,000 1,161,000 -157,000
x RRELE XN 5,000 5,000 0
~ BRI E T H 30,000 30,000 0
% NS E R R B 75,000 79,000 -4,000
RIEH X H 350,000 440,000 -90,000
ERAXH 235,000 315,000 -80,000
HiFEXH 144,000 127,000 17,000
t BHHEREZESIH 1,000 1,000 0
B E 143,000 126,000 17,000
hcE 3B E X H 1,000 1,000 0
S8 B ik B S 1,000 1,000 0
HHEMREZH 1,000 1,000 0
N A& X H 1,000 1,000 0
BHEE X H 100,000 100,000 0
BEERELH 1,000 1,000 0
[LEREXH 10,000 10,000 0

_16_




__17_..

B ® B CEEFEEE|AFETHE| E R

FHAXZH 1,000 1,000 0
—~ HREIH 10,000 10,000 0
3| x| #EexdH 30,000 30,000 0
Rz BRERH 10,000 10,000 0
_‘% = REST 180,000 180,000 0
£ EHEEEXH 180,000 180,000 0
% BETHIHD 15,743,000 | 12,713,000 | 3,030,000
EXFHES I EEC)=(1)-(2) -3,941,000 | -1,406,000 | -2535,000

—~ | IR
M| A | EERERERAA 0 0 0
uz;& B3 & RS S 2,000 2,000 0
i% % HiERE G 1,000 1,000 0
OF" HmE R B IE 3 1,000 1,000 0
- | BERUHRIEXH 1,000 1,000 0
&£ HEER B % 32 tHEH(D) . 2,000 2,000 0
% B EEFE SN EE(6)=(41)-5) ~ -2,000 2,000 0
HERXHERASIRA 300,000 300,000 0
P X A EIRA 300,000 300,000 0
—~ |y BEELY -t A E AR S REASILA 300,000 300,000 0
;f) H—E AR PEBBASIA 2,515,000 400,000 | 2,115,000
i A H—EXARNBERASIRA 2,515,000 400,000 | 2,115,000
D BENMEXIEEEY-UARPRBASIRA| 2,515,000 400,000 | 2,115,000
i Z DO FERAHD | 2815000 700,000 | 2,115,000
g AR ERASIH 494,000 290,000 204,000
- MEEoBRASIH 494,000 290,000 204,000
%t ¥ i et B XIS XS ERAEIH 494,000 290,000 204,000
Iz H—EXAR S REAEXZH 1,000 1,000 0
% | F—EARSEBAS X 1,000 1,000 0
— EENEXBEEY-ARHBASZY 1,000 1,000 0
ZOMOEBTHEE) 495,000 291,000 204,000
ZOHOFHE SN ZEO0)=(1)-8) 2,320,000 | 409,000 ] 1,911,000
FIREXH0) o 1,000 0
é%ﬁﬁ%i&%%ﬁﬁ%{ f}-<3)+(6)+(9)~(10> -1,624,000| -1,000000| -624000
TEEST R L1180 1,624,000 1,000,000 624,000
SHXXILEREE01H(12) 0 0 0
IRAESE 16,241,000 13,007,000 3,234,000
THEEE 16,241,000 13,007,000 3,234,000
=51%a 0 0 0




BEEEAY—EXRBES—EXRS
(EEERENBSELEETH . BETRETBRICEIBENEER. BRIV -DAHR)

B & ® H SEETHEE|AFEFER| E B
REREHEBESIA 1,000 1,000 0
X ET @B EIRA 1,000 1,000 0
ZDHDOFEBIEINA 1,000 1,000 0
BEEEAY—EREEEIA 3,254,000 4,469,000 | -1,215,000
Iz B X EHETEIRA 3,157,000 4,372,000 | -1,215,000
N EERTEIRA 3,157,000 4,372,000 | -1,215,000
MAEHELINA 1,000 1,000 0
— ZDHDOEFIA 96,000 96,000 0
5 | M BOESENA (BE) 96,000 96,000 0
ZHFRESEIRA 1,000 1,000 0
E S ZIFEESSIIA 1,000 1,000 0
o SIFRESRINA 1,000 1,000 . 0
! BEEHRAG 3,256,000 4471000 | -1,215,000
) A EXH 2,731,000 3,620,000 |  -889,000
EEEmEHREXH 2,731,000 3,620,000 [ -889,000
Iz EEEXH 1,426,000 2,381,000 | -955,000
RERFEEXH 25,000 50,000 -25,000
& HERERREXD 100,000 150,000 | 50,000
% EEHXH 301,000 304,000 -3,000
% EHE X 656,000 1,510,000 |  -854,000
1y EWMREEEIH 360,000 850,000 | -490,000
HIAHNE 296,000 660,000 | -364,000
X REBE X 10,000 10,000 0
— | B ERE X H 10,000 10,000 0
HEMRE X H 10,000 10,000 0
HIRISARE X H 106,000 106,000 0
i H 100,000 100,000 0
BIEEREZH 108,000 131,000 -23,000
FHMHXH 10,000 10,000 0
FREXHEH2) | 4,157,000 | 6,001,000 | -1.844,000
_ BREHESRZEHC=(1)-(2) -901,000 | -1530,000 | 629,000
(e | HX
S| A [BREBRZRAGFA@ 0 0 0
cEI=
i |t [FREREXMEG) e 0 0 0
— % T BRERS AN EE 6= 0] 0 0
H—E AR S EEAZRA 1,000 1,000 0
i H—E AR DREEASIA 1,000 1,000 0
z | A MHAXBERY - AR ERASTIA 1,000 1,000 0
» Z DO FEEIRATHD 1,000 1,000 0
fth WEXRLHEEASH 4,000 4,000 0
2 WA XS EEAEH 4,000 4,000 0
g X BEENEERAR D EBAS L 2,000 2,000 0
- H HEESERI,ENEARPEBRAEIH 1,000 1,000 0
& NERBELNARIBBRASIH 1,000 1,000 0
ﬁ H—ERRAEBASITH 1,000 1,000 0
% J—EARSERAEIH 1,000 1,000 0
— HAXIEEEY- AR HBEAES X H 1,000 1,000 0
Z DD EB HEHE) . 5,000 5,000 0
ZOHOFEHE NI EZ()=(7)-(8) -4,000 ~4000 0
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B & # H SEETELA|4FETESRE| = B
FiEBZH10) 10,000 10,000 0
W E YT E LS EH11)=(3)+(6)+9)-(10) -915,000 | —1,544,000 629,000
AR EeRe(12) 915,000 1,544,000 ~629,000
HHETHERES11)+(12) 0 0 0
IRAEE 4,172,000 6,016,000 1,844,000
FHWEET 4172000 6,016,000 —1,844,000
=515 0 0 0

_19_




HMXEEEY—EARS

(EE RENRIEEEEETE BEERAXBAICEDGIERAY -t AFF ABEOERES)
BEHH SEETEHE|4FETESE| £ B
BRERBABESIRA 1,000 1,000 0
X ETFT B EINA 1,000 1,000 0
Iz DD FHBIEIRA 1,000 1,000 0
EEEIY —EREEFERNA 2,568,000 2,318,000 250,000
BiZERAERA 2,567,000 2,317,000 250,000
FHEHEER SRR T EIXA 2,567,000 2,317,000 250,000
R ZORDEERA 1,000 1,000 0
% | RBEERNA(RE) 1,000 1,000 0
BEEERAD 2,569,000 2,319,000 250,000
E AEBZH 2720000 | 2,469,000 251,000
= BEEHXL 2,720,000 2,469,000 251,000
! EEETH 1,046,000 1,047,000 ~1,000
) MHMEX W 15,000 15,000 0
HEREHEMAE 71,000 71,000 0
(Z RIEF 3 H 10,000 10,000 0
EEHXH 283,000 234,000 49,000
& 53 HRE X 232,000 250,000 18,000
F3 HiREEETH 150,000 150,000 0
EHEgRHE 82,000 100,000 -18,000
1 REXBEXH 15,000 15,000 0
a2 E B R E X 15,000 15,000 0
53 HEWREZH 66,000 70,000 ~4,000
~ FI 8 A& 37 H 17,000 15,000 2,000
BB 70,000 100,000 -30,000
BEEREZH 131,000 131,000 0
FHMHZH 10,000 10,000 0
RFH I H 126,000 126,000 0
2REHXHEN ~ 3,766,000 | 3,516,000 250,000 |
L ELEE S ORUROR ~1,197,000 |  ~1,197,000 0
([T | IR
SB 1A [BREBFIRALG 0 0! 0
| X
25 | REERERNIG) ol 0 0
—F ﬁﬁ&%ﬁ EP k%S (OEORO) 0 0 0
87 F—F AR AR ASIA 1,000 1,000 0
% ;0| I H—EXAR D REEASIA 1,000 1,000 0
“6*0“;’ A BEELY - tx%%ﬂ—tx[ﬁﬁﬁﬁﬁléﬂll 1,000 1,000 0
Rz ZOMDEHRATD) 1,000 1,000 0
- MARHEBRASRIH 300,000 300,000 0
z HRRSERAEH 300,000 300,000 0
) NERBRELNARHOBBASIH 300,000 300,000 0
uyg)'l % [F—EXARDEBRASIH 2,000 2,000 0
X | H H—E AR S RERAS I H 2,000 2,000 0
g BERUY—ERFEY-C2ARSHBASEIH 1,000 1,000 0
(< YAESBEBEY-L AR SRIRAZH 1,000 1,000 0
= ZOMD EB X HELE) 302,000 302,000 0
ZDHDEDE RN EE0(9)=(7)(8) ~301,000 | -301,000 ] 0
H10) 2,000 2,000 0
HPEEWFT SR 1D=(3)+(6)+9)-(10) -1,500,000 | -1,500,000 0
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_ BEHEE SEETHE|AEETHE| = R

TEESE R P 1,500,000 1,500,000 0
L RLhET R 12) 0 0 0

IRAEE 4,070,000 3,820,000 250,000
XHEE 4,070,000 3,820,000 250,000
E5%5 0 0 0
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WAESEEFMEESEY —EARS
(MIHFB B I —YVAESEEOZEE FHR)

EEH B SEEFPHEAE |AFETHEE| = R
FABIRA 1,000 1,000 0
FHEIA 1,000 1,000 0
ZDDEFFEIA 1,000 1,000 0
ZEEEUIRA 28,400,000  30,000,000] -1,600,000
T XETA ZEEINA 28,400,000 30,000,000 -1,600,000
In YAESEEMEEFEZEINA 28,400,000] 30,000,000 -1,600,000
FEIRA 3,200,000 3,200,000 0
ZDMDEFEIZA 3,200,000 3,200,000 0
A EETERA 3,000,000 3,000,000 0
FIFAFARA 200,000 200,000 0
SRR EIRA 1,000 1,000 0
ZHH EEHEIA 1,000 1,000 0
ZHE A BB L URA 1,000 1,000 0
- EXFHNA) 31,602,000 33,202,000 -1,600,000
=5 A EXH 23,999,000  25729,000] -1,730,000
B BERHH 16,609,000 17,177,000 -568,000
E 3 BEEE5XH 3,451,000 4,256,000 -805,000
EEEBERSXH 800,000 800,000 0
7] ETE R B 3,139,000 3,496,000  -357,000
FEEXH 7,041,000 6,492,000 549,000
o FREGHEEZH 1,000 1,000 0
- KENABRETH 1,559,000 1,355,000 204,000
- MEEXH 252,000 177,000 75,000
¥ ERERERERTEXH 157,000 196,000 ~-39,000
RIEH X H 480,000 485,000 ~5,000
3 | X BEEEXE 324,000 312,000 12,000
BEEEEXH 30,000 20,000 10,000
it BT H 873,000 581,000 292,000
BHkEEEIH 492,000 200,000 292,000
X EEPAE & 381,000 381,000 0
— REXBEXH 10,000 10,000 0
H HBAREXH 10,000 10,000 0
HHEM L E X H 1,000 1,000 0
ZiEgEXH 50,000 50,000 0
BIEEREXH 232,000 232,000 0
SREXH 1,000 1,000 0
FHH X H 70,000 70,000 0
HEBEXH 1,000 1,000 0
EETEEXH 3,000,000 3,000,000 0
FHEXH 200,000 202,000 -2,000
Hng 0 0 0
EFEEEZH 200,000 202,000 -2,000
EEIX Q) S 31,240,000{  32.423,000] -1,183,000
EXREES W EEQ=(1)-(2) 362,000 779,000]  -417,000
| IR EiERRE ISR A 0 0 0
e | A R ESIRARE 0] 0 0
% 5 EE&EERGXH 3,000 3,000 0
m% HiEik B G 2,000 2,000 0
B.Zﬁ% X HEhER SR H 1,000 1,000 0
F DY AL 1,000 1,000 0
I~ BERUVmARGEE 1,000 1,000 0
& MR B E I HEND) 3,000 3,000 0
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e B SEETHIE|IFETERE| = &
BRREEERIETER6)=14)-5) -3,000 -3,000 0
— H—E AR REATIA 1,000 1,000 0
| IR H—E AR PRBASIA 1,000 1,000 0
DA HSBEEEY-CARSRBRASIA 1,000 1,000 0
llxz%’ DO EENIRAEHT) 1,000 1,000 0
% R EoRERAEXE 360,000 777,000 ~417,000
—g | X | BARSEEASXZH 360,000 777.000] 417,000
R MBI B E AR S RRAS I 360,000 777,000  -417,000
B Z DD TEEFZ HEHB) 360,000 777,000]  -417,000
5 FOMOEHERINKEL9)=(7)-68) ~359,000 -776,000 417,000
___FiEXHA0) 0 0 0
LRI ELR S0 1D=(3)+6)+(9)-(10) 0 0 0
TR ES RN TP o] ) 0]
LEkTHEEES(11)+12) 0] 0} 0
INA&E 31,603,000 33,203,000 -1,600,000
FZH&E 31,603,000 33,203,000 -1,600,000
=Z51RE 0 0 0
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HERULESMEEY—EARS
(HeEHSEENELEETE EFFERBICALTOERER)

_24_

B & ® H SCEEFELE|(4FETER| E R
EIEZXRA 1,000,000 1,000,000 0
= EESIA 1,000,000 | 1,000,000 0
= | IR [ZRFIEEZEIRA 1,000 1,000 0
& LA SHF ERLEUA 1,000 1,000 0
= SEFI B R 2 AUA 1.000 1.000 0
£ BEEBILAGO) 1,001.000| 1,001,000 0
) % BHEEXH 3,152,000 3,002,000 150,000
”é H gSiHEXH 3,152,000 3,002,000 150,000
= SREEIHEN) 3,152,000 3,002,000 | 150,000
BXEPASINFZFHR=(D-2) -2,151,000 | 2,001,000 |  -150,000
(2 | UX
$1E | A [BHRERBERARG 0 0 0
HER %
iy &
s | B SRR ERTHENG) 0 0 0
— % MR ﬁﬁiﬁliﬁzﬁ(arm)—(m 0 0 0
— WEXFEBAZIA 1,000 1,000 0
y T | WERXRDEEARINA 1,000 1,000 0
%,101; A ERMTEESENARPBBAEIA 1,000 1,000 0
25 OO EBIRART) 1,000 | 1,000 0
oA
B | H | ZOMOEBHZHEEG) 0 0 0]
= ZORO E DA S REEBO=N1E) moo ' mno"""",' 0
FRERm(0) , 0
SR Sk = B e AT D=(3)+(6)H9)~(10) ~2.150, noo | -200 l -150,000
§af%§§§¥b§%§%§(iz) 2,150,000 2,000,000 150,000
LHARZLEER 0] 0 0
IRA&E 3,152,000 3,002,000 150,000
THA&EH 3,152,000 3,002,000 150,000
=Z51%e 0 0 0



BHEREEEANEEXEYERARY
(BHEEEENEXEETH)

_25_

B E ¥ H SEETEME|4EETEE| =2 E
EREEIVIN 0 50,000 ~50,000
= 5 | EEEA 0 50,000 | -50,000
E S ZHWFBRISEIRA 0 1,000 -1,000
a | ZHLH BB SR URA 0 1,000 -1,000
= SHFIBREAS A 0 1,000 1,000
£ BEEBIAGD) 0 51,000 ~51,000
% % BT EEXH 0 1,733,000 | -1,733,000
”ﬁl i BREXH 0 1,733,000 | -1,733,000
= BREHGHXHEID) 0] 1733000 -1,733000
B A s NREE 1)) 0| -1,682000] 1,682,000
[~ | 4R
£ A BREBERAGFA@ 0 0 0
B
i | RERS X o) o 5 5
— % BAEREESWNITEE(6)-4)-(5) 0] 0 0
— RERSBEAZIA 0 1,000 ~1,000
T WARAREBASINA 0 1,000 ~1,000
1013 A ZBRTEESTENARARBEASIA 1,000 1,000
@ ZOMHOFEHRAED) 0 1,000 -1,000
o] RS EEASRTH 1,683,000 0| 1,683,000
?ﬁl % WARABMEAS T 1,683,000 0 1683000
T | EERTEEFENARIUBASZH| 1,683,000 0| 1683000
% Z DM EBZHENE) : 1,683,000 0} 1,683,000
1% FORDENE 2L = 50)=(1)-(8) -1,683,000 | 1,000 | —1,684,000
FREXH(I0) ‘ 0 0] 0
LA NE e f(i?)“(3}+§6}+(9)*(18) -1,683,000 | -1,681,000 ~2,000
B ESEREL 0D _l_ 1,683,000 1,681,000 _* 2,000
T LR RhAEEEUDH2) , 0 0
IRAEE 1,683,000 1,733,000 -50,000
XHER 1,683,000 1,733,000 -50,000
=51%E 0 0 0




EERUESENSEY —EARS
(HERILEAZEETA-HDTFH)
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] B & ® H SEETHLE|(4FETEE| = E
SZEEULA 7,086,000 1,713,000 | 5,373,000
ZERFRABZAENA 7,086,000 1,713,000 -28,000
I EERUESHMZERESRA 660,000 688,000 ~28,000
EEEAESEHEESZHENA B 25,000 25,000 0
EERUELENBESHENA QOTEER) 6,401,000 1,000,000 | 5,401,000
—~ SZHFIREHEINA 1,000 1,000 0
i AT ZHRERSERA 1,000 7,000 0
= ZEH BB S £UILA 1,000 1,000 0
) BRETAEH) 7,087,000 1,714,000 | 5,373,000
Iz ANGEEXH 6,589,000 1,550,000 | 5,039,000
& BERHTH 6,589,000 1,550,000 | 5,039,000
i’l & [FEEXH 498,000 164,000 | 334,000
b HEREHRAEXH 76,000 73,000 3,000
- R EARE X H 50,000 1,000 49,000
BEERE 364,000 82,000 282,000
ti SEEXM 1.000 1.000 0
FHHIH 7,000 7,000 0
| [BREEXHE2) 7,087,000 | 1.714000] 5.373,000
T BREHAENEER-(2) 0 0 T 0
[Zr | IR
ggg ; B RS RA@) 0 0 0
4
%Fﬁ H PR REET HEHG) 1 0 0 0
—F TR A & IR 2 8 (6)=(4) ) 0 0 0
—~| UR
;”% A OB BRI 0 o 5
&l X
m% [ 2O ER HEH®) , ol 0] 0
= ZDMDEBERINT @(9)—(’7)“(8) 0 0 0
FREZH(0 0 — 0 1
%?ﬂﬁ%&iﬁﬁ A D=@H6IH9)~(10) 0 0 0
B EESTNEL TP i 0 0 0
R ESER LD 0 0 0
IRA&E 7,087,000 1,714000 5,373,000
X H&E 7,087,000 1,714,000 5,373,000
L 1) 0 0 0




(EBRTEEEEFTE EERTORBRUHEMER)
BEFE B SEETEE|EETHE| = B
FABIRA 500,000 1,400,000 |  -900,000
g BEEEFAEIA 500,000 1,400,000 |  -900,000
% ZWMARELEINA 1,000 1,000 0
e ZHFEERYEINA 1,000 1,000 0
= | A EERTZRABESSIA 1,000 1,000 0
) BHEFERAGD 501,000 1,401,000 |  -900,000
(2 BEEXH 200,000 1,400,000 | -1,200,000
& | % SBEXH 0 0 0
@ EERTHEEXIHE 200,000 1,400,000 | -1,200,000
¥ BEZHE 100,000 1,300,000 | -1,200,000
ol L —BERHE 100,000 100,000 0
BRFHIHED 200,000 1,400,000 | -1,200,000
X DA RXERO=(1)-(2) 301,000 1,000 300,000
[T | IR
SHE | A [MEREEZNAGW 0 0 0
PEI=
T | U [ERERERMEG) = T nt 0 0
— % R BEEEERIEEE06)=4)-(5) , 0 0 0
— BERXZBRAERA 1,683,000 0| 1,683,000
% Iz WERDEEASIIA 1,683,000 o] 1,683,000
0 A g fEit EE G R D ERAEIA 0 0 0
2% MBENEZEREARHERAZIAl 1,683,000 0| 1683000
i T DD FEFIRAFHD) 1,683,000 0| 1683000
) PERSERAEEZH 440,000 5,000 435,000
i . WERSRBBASTH 440,000 5,000 435,000
2 | iRt ER AR X D ERA S X 438,000 3,000 435,000
Iz NNOBMBEEMARSFBRASXH 2,000 2,000 0
X ZFOMOEBSZHEEQ) k ; 440,000 5,000 435,000
- ZOBOEHE SR =8 (9-1)-08) 1,243,000 -5,000 | 1,248,000
___ FREXH00 . 4,344,000 |  2496,000 | 1848000
B INZEEEET11)=(3)H6)+9)-(10) -2,800,000 |  -2,500,000 | -300,000
_ mlkZHESERE02) t 2,800,000 | 2,500,000 300,000
BRI EEREU1)(12) 0 0 0
IRAEET 4,984,000 3,901,000 1,083,000
FHEE 4,984,000 3,901,000 1,083,000
=51%E 0 0 0
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MOEERBEBEREY—ERARS
(MOEEEEETH  PAMBEUIREES O RIER)

B %E # B SEEFEE |([FETEE| = B
FHEIA 100,000 100,000 0
% ROEEESFFRIIA 100,000 100,000 0
2 SZHHEREYSEIA 52,000 52,000 0
= | IR SRFBRIEIRA 52,000 52,000 0
g | A SEF BE L EULA 1,000 1,000 0
(= ROEREESBIEEZTIAE 50,000 50,000 0
&= MORESFRLLIA 1,000 1,000 0
fﬁ T FEFRHURAGD 152,000 152,000 0
2 | b FEEHEEND + 0 0] 0
EE TR OS0R0 152,000 152,000 0
T | I
;;ﬁﬁ A [ERERZRAG® 0 0 0
R | X
% i | B [ EREEEIHAEG) o o] 0 0
—F MR EE e Ny = 0)-(A)-05) ; 0 0 0
~ | EEBIEERBIA 11,635,000 | 14,531,000 | -2,896,000
% | A BRORESRIEFEIEIIA 11,635,000 | 14,531,000 | —2,896,000
0)) ZOMOEENAGHTD) 11,635,000 | 14,531,000 | -2,896,000
fit BERMII SRS X H 0 0 0
D BEE M EREXH 0 0 0
g & HEeBETEETH 152,000 152,000 0
(- MORESVITEEXH 152,000 152,000 0
& | [RRESERAEIZH 11,635,000 | 14,531,000 | -2,896,000
% XN ERASZH 11,635,000 [ 14,531,000 | -2,896,000
1z hEEAEEL SRR S RIRAEXH 11,635,000 [ 14,531,000 [ -2,896,000
x ZOM0DE B % HEH8) 11,787,000 | 14,683,000 | 2,896,000
— FOMOEBESINTEE0)=(7)-8) ~152000|  -152,000 0
FRERZH(10)_ 0 0 0
S B RN e R D=(HEIH-(10) 01 0 0
AR BT BE(12) 0 0 0
THR R Rs( )12 0 0 0
IRA&ET 11,787,000 14,683,000 —2,896,000
Y& 11,787,000 14,683,000 -2,896,000
E£51%5 0 0 0
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